3,

4.

S.

6.

2) xlg104=1Ig15
Lolgls
g 1,04
0,1761
0,0170

x= 1036

X =

a) 1g 1800 + x-ig 1,04 = g 3450

= Ig 3450 — Ig 1800
g 1,04
. 3.5378 — 3,2553
- 00170
0,2825
=
0,0170
x= 16,62

b) x:lg1,045=1g2

c) x*lg1,055=1g25
e g25
Ig 1,055
0.3979
0,0233

x=1708

X =

b) 1g 950 + x+1g 1,05 =g 1625

leglezs —1g 950

g 1,05
0,0212

X =

c) Ig 1685 + x-1g 1,053 =1g 3560

. - 183560 — Ig 1685
g 1,053

3.5514 — 3,2266
0,0224
0,3248
[~ D= acadiay
0,0224

X~ 14,5

a) x\lg7=(x+1)lgs
x-lg7=x-1g5+1g$5
xlg7 —xlgS=1g5
x(lg7-1g5)=1g5

. Ig$§

Tlg7-1g5

0,6990

08451 - 0,6990

0,6990

*=70,1461

x = 4784

X

Xx=

a) x+1g 0,7 =1g 0,2401
_120,2401
1807

0,3804 — |
08451 — 1
~—=0619

- 0.1549
x=4

=

X

b) xlg3=(x—-1)Ig4
xlg3=xlg4-1Ig4
x:lg3—x-lgd=—-1g4
x(lg3—lgd4)=-1g4

= =g

“lg3-1g4a
—0,6021

04771 - 0,6021

x%—0'6021

—-0,1250
x=4817

X

X=

b) x+1g 0.45 =1g 0,0911
_lg0,0911
18 0,45
09595 -2
06532 -1
— 1,0405
- 0,3468

=

X =

X

>
w

c) 2x:lg7=(x+2)Ig 10

2x<lg 7=x:1g 10 + 2+Ig 10
2x+1g 7 — x+1g 10=2-1g 10
x(2:1g 7 —1g 10)=2-1g 10

2:1g 10
X 3 g7-1gi0
e DL
2-0.8451 — |
TR T
0,6902
x = 2,898

¢) x+1g0,52=1g 0,038
_1g0,038
10,52
05798 -2
e e A ey
07160 - 1
- 1,4202

- 0,284

X =

Ed
R
w

H

7.

8.

a) x*Ig095=1g0,6124 +1g 1 4
_lg06124+1g1.4
1g 0,95
_ (0,7871 — 1) + 0,1461
09777 - 1
- 0,2129 + 0,1461
-0,0223
—— 0,0668
—-0,0223
x=3

¢) x+1g 0,165 =1g 0,0226 — 1g 0,83

_1g0,0226 — 130,83

1g 0,165
~ (03541 —2) — (09191 — 1)
(0,2175 - 1)
~ (= 1,6459) — (- 0,0809)
- 0,7825

— 15650
—0,7825
x=2

X =

a) lglO+x-lg6=Ig3+(x+1)Ig5
Igl0+x-lg6=Ig3 +x-lg5+ig$5
xlg6 —x1g5=1g3+lg5—1g10
x(lg6—1gS5)=1g3+1gs5S—1Igl0

_lg3+1g5—1glo

Ig6—1g5s

~ 24771 +0,6990 — 1
0,7782 - 0,6990
0,1761

g AL S
0,0792

x>2223

X

c)(x+2)lg5+1g125=(x+1)lg4+1g32

b) x-1g 0,28 =1g 0,058 + 13 0,106
_1g0,058 +1g 0,106
X" g0.28
o~ (07634 —2) +(0,0253 - 1)
(04472 1)
(= 12366) + (- 09747)
~0,5528
=221
~0,5528
x=4

b)lg24 +(x—1)Ig3=1g135+(x+1)Ig2
Ig24 + x-lg3 - 1g3=1g135+x-lg2+lg2
x'lg3 —xlg2=1Ig135+1g2 -lg24+1g3
x(Ig3 -1g2)=1g135+Ig2-1g24+ig3

_lg135+1g2—1g24+1g3
L g3 -1g2

- 1,1303 + 0,3010 — 1,3802 + 0,4771

0,4771 —0,3010

_0,5282
70,1761

x=3

X

x-lg5+2-lgS+1gl125=x-1g4+1g4+1g32
x:1g5—x-lgd=1gd4+1g32 —2-1g5—-1g12,5
x(Ig5—1g4)=1g4 +1g32 - 2-1g5—-1g 125

_lg4+1g32-2:1g5 18125
X g5 -1g4

= 0,6021 +1,5051 — 1,3980 — 1,0969

0,6990 — 0,6021
e 0,3877
0,0969
x=-—4




